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1 Introduction
The issue of UE behaviour when the time of transmission of one of the Random access messages (preamble, RA response, message 3 and message 4) overlaps with the measurement gap was discussed in RAN2#62bis [1]. The general inclination of the group seemed to be to prioritize the random access procedure over the measurement gaps. However, two variations on this principle were mentioned in [2]. Here we discuss the options and provide our view.
2 Discussion

Alternatives 1 and 2 in [2] essentially prioritized the measurement gaps over the Random access procedure. The first alternative consists of simply tuning away for a measurement gap even if UE is awaiting a RACH response; this results in a shortened or a completely lost random access response window. The second alternative consists of UE looking ahead and not performing a RACH procedure if the RACH response window would overlap the measurement gap. This leads to some delay before the UE transmits the preamble.
Alternative 3 prioritized transmission of all random access messages over measurement gaps. This implies that if there is a collision between a measurement gap and one of transmission of an RA preamble, reception of RA response, transmission of message 3 or reception of message 4, then the latter is prioritized and part or all of a measurement gap is lost. 
Alternative 4 is a combination of alternative 2 and alternative 3. Measurement gaps are prioritized over the transmission of the RA preamble and the reception of the RA response; but the transmission of message 3 is prioritized over measurement gaps. The reception of message 4 may or may not be prioritized over a measurement gap; the possibility of prioritizing message 4 reception when the contention resolution timer is short has been suggested.
Alternative 4 does not seem to have any benefits over Alternative 3. Both behaviors result in loss of a measurement gap. Alternative 4 does not result in loss of fewer measurement gaps than alternative 3. If a collision occurs between one of the Random access messages and a measurement gap, the next collision cannot occur any sooner than 40 ms later, which would normally be after the Random access procedure is complete. That is, normally there can be only one collision during a Random access procedure.
Alternative 3 is also seen as a simpler solution. We therefore prefer Alternative 3.
3 Conclusion
It is proposed that RAN2 discuss and agree on the following proposal:
Proposal: If transmission or reception of a random access message (RA preamble, RA response, message 3 and message 4) overlaps a measurement gap, the random access message takes precedence.
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